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Intervals : wlaall

Finite Intervals : apiuodl wluall (1
: a>gqiaoll 8,:2)l (a

Openinterval ={x e R:a < x < b} = (a,b)
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Closed interval : aalsoll 8,:0ll (a

Closed interval = {x e R:a < x < b} =[a, b]
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The half open interval : asgiso i d,a8ll (¢
The half open interval from the left ={x e R:a < x < b} = (a, b]
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The half open interval from the right = {x € R:a < x < b} = [a, b)
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Infinite Intervals : apuell )l wlyusll (2

a) {[xeR:x>a}l={xeERa<x <ow}= (a,x)
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1) ¥ a<bh = a+c<b4c
2) K a<h,c>0 - ac<bc
3) K a<h, c<0 - ac>be
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Absolute Value : dilhad iuill
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P |x]<a & —a <x <a
 x|=a & —ag <x<a
P |x|>a & x >a or x <-a
P |x|Za & xZa or x £-a

Solution: |2x -3 <1 —--—-1<2x -3 <=1
= 3=1<Z2x =1+3
=2 =2x <4
=1 <x <2
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The function : Al (i e
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A= B,V x€d, 3yeBaf(x)=y
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CfrA =B, fl=x)=—f(x) <SBliniiy f L. (Oddfunction) Laalddial (4

fl=x)= (—xP +(—x)=—-x"—x=—(x"+x) = —f(x)
A=A fl—x)= fx) <813, 5dha f Al L.s (Even funclion) e, dah (5

fl=x)= (—x*+4=x+4= f(x)
P JEa e oS 1) pm daatia A e (Polynomial function ) asesliiasis (g
Flx) = anX™" +anax™ 4. . .+ mx+ ag
If n=0 = f(x)= a, (constant function) i
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. Absolut value function Aalkudii.a@iidlls 7

x>0

f(0) = x| = f(x) = {f.’x, o

Dp=R, Ry=R*u{0}
Sign function s LEY1alL (R
1 if x>0
f(x) = sgn(x) = 0 if x=0
-1 if x<0

Df = K 3 Ef: {-1,[],1]




. The greatest integer funclion cee¥l maalldl: 9
flx} = [x] Sl basay X ey maeace A 4 [x] b ddae x JE 0

3.2]=3 . [B38]=3 . [Bl=3 . [B]=-5 . [03=-1 . [(25]=-3
2 if 2=x=<3
1 if 1=x=2
flxd= 1 0 if bD=sx<l1
-1 if —1=x=0
—2 if —2<x<-1
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r—9=0 - X =-3Nx+31=0
—=»x—3 20 Ax+3 20 Lal
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—=x—3 =0 A x4+3 =0 al

-x=3 A x=<-3
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1) (F +9)y=F(x) + g(x)

Df_|_g = Df N Dg
2) (f.-9)e=Ff(x).g(x)

ﬂfg=ﬂfﬂﬂg

3) (/a),=L3 ,g(x)#0
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Example: Find the limit of the function f(x) = x? +3 as x approaches 2.
Cpadl) dga e ——ﬂm—mm

fix) 7.0007=7

Dl A (g f(x) 5.95 5.98 698 6999 =7
uu}uﬂtjugﬂﬂ\@wzwu_,mx Lazic 43l oMot Jal (o peiiast () aakeiaad
T e i@ f(x)
- lim(x?+3)=7
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Example 1: lim

r—22 X-=2
2 _ o
Solution:  lim 2= = lim &=2%*2 _ jim(x + 2) = 4
xr—2 X—2 x—2 x—2 x—2
4 2x
Example 2: }Ea o S,
2x Vx+3+/3

< 2x ”
lution: lim = lim :
solution: B Tws—E 1o Vxra3 VeI
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Jlim_f(x) Cuadl 4ga Ja ALAN
lim f(x) Seal) Ay a4l
lim f(x) = llm L f(x) =L = LK IL Judiydigasa lim f(x)

X=C )

Example 1: show that !rl_nra x| =0

x| = X, x=0
|l =x *r<0

) | 111'n fix) = llm x=10

= lim f(x) = IE.’;}H— -x=1

=0

-Ili{gll_f{x} == _.f".T—HI} =)

— Jlri!?:}f[x} ={



Example 2: Calculate the limit of the function
2

_ b ; Xsl
f(x)—[ 8- 2x i X> 4
When x — 2.

Solution:
m) lim f(x) = JLIL{I+8—2I=B—4-=4

x—2+
. . . 2
= 1.1-151— f(x) = Illﬁl— x“=4
— Jim f(x) = lim f(x) =4

— lim £ (x) = 4
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lim +x=v0=0 , lim yx 33y
x—=0+ x—=0-

lim +x # lim x

x—0+ x—=0-

l-'—lﬂ VX Bismse b
Example 3: Find lim V3-8
lim Vx3 —8=V8-8=0
Example 4: Find lim T2
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) Jedbg 13 @ Alaith 33 B patuca £ AN 5585 ¢ iy gl
3y 30 f(a) (1
fa525 lim £ (x) (2

lim f(x) = f(a) (3

ooe ) DA L g pall aal (Fiaty Al 13) g ddaill die B jalise e Al S5 ddaaDla
Example 1: Is the function f(x) = x? — 3 continuous at x=2.
Solution: 1) f(2) =22 -3 =1
. T 2 _ — 92 _ 9 _
2) chl_I}I%f(I) —Llﬂ% (x*=3)=2-3=1
3) Imf(x) =f(x) =1
X=>
. X=2 e B oahua f

x2-9
Example 2: Is the function f(x) ={x+3* * ¥ =3 continuous at x=-3.
-6, x=-3
Solution : 1) f(—3) = —6
: e X9 (x43)(x-3)
Z]xlﬁg‘ F(x)= xEr—%‘ X+3 xEEnE— (x+3) .
lim —6=-6
x——3%
Jim_ f(x) = lim f(x) =6

3) lim f(x) = f(-3) = —6

x=-3 .‘l.'u:-E_J,-::I.a.u.qf{—
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1) fla) 3255
2) lim_f(x) #1525
x—a
3) lim, f(x) = f(@)
OSN3 Oedl Aga (e s Ell Aes B Akl dic B jediee (S5 f(x) A F
1) f(a) 55
2) lim f(x) s

3) lim £(x) = f(@)

Example 3: Is the function f(x) = +/x continuous at x=0.
Solution:
Df={x€R: x=0}=[0,0)
e g o Dy (A Jlana) Al iy 5 8 By Al ga x=0
1) f(0)=V0=0 33523
2) lim_f(x) = VO =0 32555
X—a
3) lim_f(x) = f(a) = V0 =0
X—

X=0 2ic & jaluua f{—
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- Cgihaaill x Ala¥) g GLdl A Ax O S y=fix)

_ o Ofhiily Ll | aggiceal (e ol
e _ Y2~y _ flx+Ax)-f(x) _ flx+dx)—f(x)
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GELI AL f «ilS 13 (3, b) suEd e FERIO ALE Al f{x) o) Jpi e
. (a, b) i (e Akaii K e
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. ¥ Al Al L f(x) Ol
Example 1: Using the definition of the derivative to find the derivative

of the function f(x) = 4x — 2.

. p : flx+Ax)—f(x)
Solution: ¥v' = f'(x) = lim
y' = f'(x) Jim =

= Xiini 4{x+Ax)—-2— (4x-2)
Ax—0 Ax

: 4x+4Axr—2—4x+2
= limn
Axr—=0 Ax




X A5 5 i (955 flx) O xp e GG AL Ao flx) kS 13z Al e
B palena A1 JS Casald ) Ary 138 | e (asl A paall 038 gSaa ) 1 ABBaDla
. Akl G ve gESSY) ALE A ddidl 2
Exampled: f(x)=|x|] , x=0

Solution: ¥' = f'(x) = ﬂllirnﬂ Hﬂﬁﬁ_nﬂ
X—

lim |x+Ax|=|x|
Ax—0 Ax

lim
Ar—0 Ax e~

. lax] T

= lim —

Axr—0 Ax
- LT L~ - gl_imuf(x) Ay ga
SR ALB L2 f(x)

y |0+Ax|=|0]
[—ﬂ.x, Ax <0




Qanial) o) g8 .

NIffx)=c - f'(x)=0

2)If f(x)=x" ,n€R - f'(x) =nx"1

3)If f(x) =c g(x),c is a constant number - f'(x) =c g'(x)
4 [fx)xg@] =f(x) g (x)

5) [f(x).g(x)]" = f(x).g'(x) + g(x).f' (x)

6) f (x)] g (x)-fx)g' (x)
g(x) (g(x))?

Ny=U@I" =y =nlfI"". f'x

Examples:
1) fx)=4 -» f'(x)=0
) f)=x - f'x)=1
3) f(x)=3x = f'(x)=3
4) f(x)=x3 = f'(x) = 3x?
5 f(x) =2x7 » f'(x) = 14x5
6) f)===x3 > f(x)=-3x*==

Nf@R)=g=3x"> fx=-152°=22
8) f(x) =yX = xH flx) = —xz—ﬁ
: 2

9) f{x)—\',_ IE' — f{x]_—x'i_
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ety =f(t) , t=g(x)

dy _dy dt
dx ~ dt dx

2)lety = f(t) ,x=g(t)

d}'

dy _
dx
dt dy
Example1:if y =2t -1 , ¢t =2x find—
. dy dy dt " oo i
Solution: e (4t)(2) = (4(2x))(2) = 16x
Example 1: Ify—tz—l , x=2t+3 ﬂnd—

dy
dy — b — £E oo X3
Solution: e ﬂ— = 3 gl — 5
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2 ﬁz.E-ﬁx WL-'I'-'J‘LJF il Lﬁfbﬁlmﬁiﬂl y <ls 13l

3y?x2 + 6yx—5x% =10

x2+y2=9
Al GELIY) el g Bakiyx JAD A y el Agiaall Al e " dEALD JlagY S

Example : Find y' of the equation x3 + 4y3 — xy?2 + 7x = 10.
Solution : 3x2 + 12y2%y' — [x(2yy" ) +y*]+7 =0
3x2 + 12y%y' — 2xyy' —y2+7=0
(12y2 = 2xy)y"'+ Bx2 —y2 4+ 7) =0
(3x2 —y2+7)

(12y2 — 2xy)

r

}J:
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s iy 2y 7 () el el Sa s ) Ao A 200 G i o 3y
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1)y =sinx -

ic F
L cosx .(x")

dx

2)y=cosx — g = —sinx .(x")

d
3)y=tanx - d—i=se¢’x (x)
4)y=cotx - Ey = —ese?x . (x')
S5)y=secx - o = secx tanx.(x')

dy
6)y=cscx - = —cscxcotx. (X))
Example 1: Find d—i’ of y=x%—sinx - j—i = 2Xx — cOSX
Example 2: Find —i of y = x*sinx - j—i = x% cosx + sinx .2x

L inx dy X cosy —sinx 1

Example 3:Find = ofy = — - <X =

x x tlx x2
Example 4: Find 5—" of y = 5x + cosx — Z—i = 5 — sinx

Example 5: Find ﬁ of y = sinx cosx —

Example 6: Find j—i of y = tanx? -

Example 7: Find j—i ofy =

dy
o= sinx (—sinx) + cosx cos x
X
= —sin’x + cos’x

dy _ S
— = secx E2x)

dy  (1+cot2x)1-x (-csc?2x).2
— — =
1+cot 2x dx {14cot 2x)?

Example 8: Find % of y = secx” + csc2x?
dy

dx

= secx® tanx?® .3x?% — csc2x? .cot2x? . (4x)



* The Exponential function exp(x) = e*
e= 2.7182818459045

For all real number x, x; and x,
1'} E.'-I.'i EIE _— EI1+I2

2) e ¥ =—
3} —_— = pt17X2

4) e™=x
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x> Inx o lp) ol @l 5 [1,2] ale dlaio x - alul
X

Ji<ds =[inx | =in2 o

0
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2 SR
¥ cos'x Ix“+1 7

[f(x)

Io yolic Co bg @ 8 I Jlxo (sle @laio &lls [ oSal
de==["f(x)dx * [ (x)dx=0%
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p: I >R

x—:.Ef(:]d:
Iode flalolals Feys vxel  gx)=F(x)-F(a) Ll
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x 1
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Vx & |0;+o0] f(x}:llnx > 2 o038 pasid il J0s+e0] el f ) a LoVl allil sa> s
Qols {Z

uﬁwij::mig[ab]@lcw:lmudlaggfoiﬂ
[ (47 (x)ax =a[ 7 (x) [0 )+ (e ))de = [ (o )ax + [ g (x Yo

(cos’ x blasl Sos ) I cos'xdx ; I;(x —3x +1)dx 34> el

Fid T
J=IE. siny g I=JE_ COSX dr s o
0 s1nx + COSX O ginx + cosx
J o Touiwle I-J  I+J wwsl
b
[ (x) i sasll ssniall Llill s
cf

e
I {%:A (£)=[r ix Jax

Ol I a b

&l sixio ot sgaodl el @olso Wb ( < 8) [a:8] wle &oso 5 alaio &lls £ wuilS 1]
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£(x)= =5 s

(Fl=tem  [H]=2em) ¢, coud
wiihsleoll pudseall ool 3 JpolVl gm0 9 € ot geazeall juzell @oliso em® oy casus]

=3 3 el
]|
a LoVl Jea) bl Jlomiwhl :1
aliol
5 (Inx )* e(Inx )*
u(x)=hx cu> u'u? JSu s olbsts | dr ons]  *
X x
2 e 3
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